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Puzzle 1 (Medium, difficulty rating 0.50)

| P
o|m|w|—|o|ols|n|=] |~ |o|~|x|o]w|m|o]  2]—|<|m|o]|o|w]eo|~ Sl<|— ||| o]io]—[w
,._“ o o
o[t~ |o|njo]m|o|—] sl |o|w]—|o|m]afol~] Hw|o|o|—|o|aof<t ]  Poo|wo|wv]<t|m|—]o|o|—
® ®

o|a| ||| m]|o|w|wo] -S|m||olw|o|—|o|—|< Slo|~ |l s |m| — o [of o S~ |oo| v o —|m || ©
o 2 2

qN|o[mof—[<t|=[o|©o] S —|m|S|o|~|w]|olofa]  Flm|o|©]of<t|—fou| |0 3|wo|=| ||| mf—[o|v]
3 £ £

Ll s S 1 Cot ! = o Lol B (o]l 0] I ) IS )t Bt 201 G o (1 ] G BT Lol Al B N (i B
o g S

< |w|ojo|o~[a—|m]  _Jo|w|olst|a|o|—[—=[m] S| iofol—|a|oflst oo Sjm|o| o< |w]~|©|o
o he ©
© (5] (]

~|o|afs|o|—lo|m[o]  Iw|s|~|o|m|afolof—]  Slov|eo|—|w|~[s|o|Nfm]  Slo|m|o|o|~[<t|o|—[w
N ™ <

o|—|<t|]o|~|o|wv|o|a] o]o|o|—|—|o|<|m || o] < |m|w]fwo|o ||~ o|—|w|~]|m ||| <
B N B

w(olo|mlojaf—|~|<]  Plo|ofmofol—|~|s|of  Plo|cf|mf—|ofojo| <] Plo|s (o] —[wo|ofaijm|~—




